 SEQ CHAPTER \h \r 1Eighth Grade Integrated Science

Standard 2 Objective 2

Multiple Choice.
Use these pictures to answer the next three questions.
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a1. Which of these organisms is a producer?

A.  A

B.  B

C.  C

D.  D

a2.  Which organisms are consumers?

A.  A and B

B.  B, C and D

C.  A, B, and C

D.  A, C and D 

a3.  Which organisms are predators?

A.  A and B

B.  B and C

C.  A and D

D.  C and D


a4. Which of the following relationships is an example of parasitism?

A. bacteria in your intestine.

B. a flea on a dog

C. honey bees on a flower

D. a bird living in a tree

a5. Leaf cutter ants keep fungal gardens.  The ants provide food for the fungus but also feed on the fungus.  This is an example of 

A. Competition

B. Predator/prey

C. Producer/consumer
D. Mutualism

a6. Which term describes the interaction between two animals when one feeds on the other?

A. competition

B. community

C. predator/prey

D. an ecosystem

Use this diagram for the next  five questions:


b7.  What does this diagram show?

A.  the feeding relationships in an ecosystem

B.  how many of each type of animal live in this area

C.  the correct size of each organism

D.  which animals are parasites of other animals

b8.  Which organisms depend on grass for food?

A.  deer, tree, chipmunk

B.  rabbit, deer, grasshopper

C.  fox, mouse, bird

D.  chipmunk, bird, mosquito

b9.  What organisms prey on mice?

A.  mosquito, grass, owl
B.  bird, squirrel, rabbit

C.  grass, grasshopper, fox

D.  fox, owl, hawk

b10.  If the chipmunks were to disappear from the ecosystem the hawk population would decline but not the owl population.  Why?

A.  There are more owls to start with.

B.  The owls have more sources of food.

C.  Hawks are not good hunters of mice.

D.  Owls can hunt at night.
b11. What would you expect to happen if the number of foxes in the area went down?

A.  No change.

B.  Mouse population would decrease.

C.  Rabbit population would increase

D.  Deer population would increase.


Use this information to answer the next three questions: 

Students designed an experiment to test the effect of hours of sunlight on radish seedlings.  They put 5 seedlings in each group and gave each the following amount of light:

group 1, no light

group 2, 4 hours a day

group 3, 8 hours a day

group 4, 12 hours a day

group 5, 16 hours a day

This table shows the data they collected as they measured the height of each plant in a group and averaged them.

                                                              Group #
	Day
	1

(Average Height in cm)
	2

(Average Height in cm)
	3

(Average Height in cm)
	4

(Average Height in cm)
	5

(Average Height in cm)

	Day 1
	1.2 
	1.2
	1.1
	1.3
	1.2

	Day 2
	1.2
	1.3
	1.4
	1.9
	1.9

	Day 3
	1.2
	1.5
	2.6
	2.8
	2.7

	Day 4
	1.1
	1.7
	3.3
	3.9
	3.8

	Day 5
	1.0
	2.2
	3.7
	5.5
	5.2


c12.  What variable was tested?

A.  amount of water

B.  amount of light

C.  soil type

D.  radish height

c13.  Why were 5 seedlings planted for each group?

A.  to increase the accuracy of the data

B.  to make sure they would all grow

C.  to see if more plants grew faster

D.  to make the plants large enough to measure

c14.  Which of the following is the best conclusion for this experiment?

A.  Radishes grow at different rates.

B.  The best conditions for radishes are lots of water, good soil and 12 hours of light.

C.  Radishes grow best with between 12 and 16 hours of sunlight.

D.  The amount of light makes little difference in radish growth.

d15.  A biologist and a chemist both investigate an ecosystem.  How will their methods vary?

A.  They will be the same.  Both will collect and analyze data.

B.  They will be slightly different.  The biologist will not use a control.

C.  They will be very different.  The chemist will use test tubes.

D.  The two scientists will disagree on the tests and results.

d16.  Which question would an ecological study of an ecosystem investigate?

A.  Is the air in the ecosystem composed of different elements?

B.  What speed does the water move down a river?

C.  Are people happier in natural ecosystems?

D.  Is the ecosystem changing over time?

d17.  A meteorologist and a geologist study an ecosystem and both decide it is stable.  What would each be looking for?  The meteorologist looks for

A.  climate change, the geologist looks for evidence of erosion.

B.  clean water, the geologist looks for clean air.

C.  the movement of water, the geologist looks for atoms.

D.  the number of plants, the geologist looks for plant growth.
Essay
1. Draw and label a food chain with four organisms on it.

2.  Write a testable hypothesis that could be used to design an experiment on animal growth.  
Answers: 

1.  B

2.  C

3.  D

4.  B

5.  D

6.  C
7.  A

8.  B

9.  D

10.  B

11.  C

12.  B

13.  A

14.  C

15.  A

16.  D

17.  A

Essay Sample answers:

1.  Answers will vary.  Producers must be on the bottom.  Make sure each animal really does receive energy from the one before it on the food chain.
2.  Answers should be written as “If, then” statements.  Ex.  If a guinea pig gets vitamins, then it will grow faster.
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